
Имя: Ключ к правильным ответамВычитание (по горизонтали)

Математика www.CommonCoreSheets.ru 5 1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Ответы

1. 63

2. 29

3. 928

4. 365

5. 2 418

6. 1 017

7. 355

8. 42

9. 4 406

10. 870

11. 2 155

12. 4 311

Решите каждую задачу.

1) 9 8  -  3 5  = 6 3

2) 3 1  -  2  = 2 9

3) 9 5 9  -  3 1  = 9 2 8

4) 7 8 5  -  4 2 0  = 3 6 5

5) 2  4 2 0  -  2  = 2  4 1 8

6) 6  7 1 6  -  5  6 9 9  = 1  0 1 7

7) 4 0 5  -  5 0  = 3 5 5

8) 4 5  -  3  = 4 2

9) 4  5 0 0  -  9 4  = 4  4 0 6

10) 8 7 3  -  3  = 8 7 0

11) 2  1 8 1  -  2 6  = 2  1 5 5

12) 4  3 1 9  -  8  = 4  3 1 1



Имя: Ключ к правильным ответамВычитание (по горизонтали)

Математика www.CommonCoreSheets.ru 5

Ответы

1. 63

2. 29

3. 928

4. 365

5. 2 418

6. 1 017

7. 355

8. 42

9. 4 406

10. 870

11. 2 155

12. 4 311

Решите каждую задачу.

1) 9 8  -  3 5  = 6 3

2) 3 1  -  2  = 2 9

3) 9 5 9  -  3 1  = 9 2 8

4) 7 8 5  -  4 2 0  = 3 6 5

5) 2  4 2 0  -  2  = 2  4 1 8

6) 6  7 1 6  -  5  6 9 9  = 1  0 1 7

7) 4 0 5  -  5 0  = 3 5 5

8) 4 5  -  3  = 4 2

9) 4  5 0 0  -  9 4  = 4  4 0 6

10) 8 7 3  -  3  = 8 7 0

11) 2  1 8 1  -  2 6  = 2  1 5 5

12) 4  3 1 9  -  8  = 4  3 1 1

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Имя: Ключ к правильным ответамВычитание (по горизонтали)

Математика www.CommonCoreSheets.ru
Облегченный вариант 5

Решите каждую задачу.

4  406 29 928 42 355
63 2  418 1  017 870 365

1) 9 8  -  3 5  = 6 3

2) 3 1  -  2  = 2 9

3) 9 5 9  -  3 1  = 9 2 8

4) 7 8 5  -  4 2 0  = 3 6 5

5) 2  4 2 0  -  2  = 2  4 1 8

6) 6  7 1 6  -  5  6 9 9  = 1  0 1 7

7) 4 0 5  -  5 0  = 3 5 5

8) 4 5  -  3  = 4 2

9) 4  5 0 0  -  9 4  = 4  4 0 6

10) 8 7 3  -  3  = 8 7 0

Ответы

1. 63

2. 29

3. 928

4. 365

5. 2 418

6. 1 017

7. 355

8. 42

9. 4 406

10. 870

1-10 90 80 70 60 50 40 30 20 10 0
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